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1. 50KeV X _(1)_mm _(2_Hz
259Co
m __
B _4__ a

_(®_

3 fa fffiy, 2 x 107
__(6) _m/s
4. 160km 450nm
5mm 17.6m

14 m 200

_(7n_cm 300mMm

_(8)_cm
5.RL 1 L=120mH R=4Q € =24V t=0

2A _ (9 __ _ (10
_(11)__
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6. 2 m o (m>n)
CD]_ anD 1:_(12)_

2
7 d la b Uo
_(13_
8.2kg 30 «=0.2
_ (14) _m/sec? 0.5m = (15)__
9. 3 A € A=6V ra=1Q B € =18V rg=2
Q C € ¢ =04Q €.~ (16) _V A = (17)_V
3
10. 4 _(18)__
A
4
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11 5 R dB/dt

r @r R P _ (19 __ (br>R P
_(20)_
5
4 10 40
1. (M=29 x 103 kgimad) O 100
@ (b) (© (co=1kJkg )

(8Q=mc, T=(2)(2.9x 10°%)(1000)(100-0)=5800J
asoQ=n Cp T=(2)Cp(2100-0) - Cp=29Fmol
(b)w=Q- U=5800-4137.2=1662.8]
(©) U=(n)(Cv) T=(N)(Cp-R)( T)=(2)(29-8.314)(100-0)
=4137.2J- (b)to get w

2. R=40m 2s
0 M =0.75
v gsnd =p (gcosH +AR)

2
> FxNsno -fcosH =mas=m V—:mrvv2=(m)(RSJine )(%)2
r

Nsn® -fcosH =mRv?snd /R— — (1)
in % FEf=ganB - f=pg N=mgand —— (2)

mgsnq

From(2) - N= - 1) -

s : » .
mgsn-q n1\Emgsmq) cosH :mXRN anq
m m R

2

divide(msing Yboth sides» 3379 =009 +VE
m

. V?
gsind =4 (geosd +--)
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A t=0 g=0 €
( i R C ¢ t )

i.e. Rc charging dircuit - 2 V=0
i.e & =VctVr=—+IR o Rxd_q
c I dt

solve for the diff.eq. in above, we get
g=q(t)=¢ c(1-€"?) where T =RC

i :%:Ee_%c A
d R
B m p A l
P )

Iy = ¢°dm = Jr)(1 dr) =1 Qr’dr where m=rAC=17 \ 1 rA
2

= rA(i[a) = imﬁz
12 12
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(1) 0.0248
(6) 60

(11) 6A

(16) 25

89

(2) 1.21x 10™

(7) 6.27
(12)/n? - n

(17) 9

3 m?
(8) 4.18

rr.!)Ialb
13)——2=>
(13) 20

(18) 2dsin® = mi
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(9) 16w
(14) 3.2

1 dB
(19)- > (E)(f)

©®)

(10) 32w

(15) 4.9

R?, dB

(20)- (=X

&)
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